N = 0l & At & Ml A

20219 &= =0lat LBl AL
A R =y
Hu: T2 Fy L =5
Chel: S 2EZ NS ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AL 30,752,971 36,889,590 16,136,619
= 257,000
< 1,899,225
Al 28,596,746
S=d FH ¥ &S 6,148,099 7,975,661 A 1,827,562
< 61,525
Al 6,086,574
SEEZMNEANMNN 4,262,099 5,120,661 A 858,562
< 61,525
Al 4,200,574
TRz 4,075,574 4,952,527 A 876,953
101 @14l 11,000 13,329 A2,329
04 D12t Z22HEE = 11,000 13,329 A2,329
O=E=H X2 34 2Y
300,000& 102 3,000
O8X & Fx=HH A2 8,000,000& 8,000
201 £B-2dH| 247,574 250,785 A3,211
01 At 22l 103,826 107,037 A3,211
O2E==EH| 16,615
o EERA&C RFX 5,647,000 5,647
o XNlots =ZHIA FRFZ 2,000,000 2,000
0 E2R4¥ ARA 2SE 7Y
1,788,000 1,788
0 RTJRMLB(NESY L S 242)
2,760,000 2,760
0 EE2ACARAL RHH 2295 22/
283,330 1200 & 3,400
o EE2ZCAIR A CCTV &9 22|
85,0002 1201 & 1,020
O2E+8 1,000
o E2&el s =g 1,000, 000& 1,000
O= gt 11,211
o EEmAae RFX 7,841,000 7,841
o =HL-HAEH LHEH 3,370,000& 3,370
[ D= 75,000
o S2&HHl FHHl Xt 3,000,000& 3,000
o L HEAD HHl Xt 3,000,000 3,000
0 SHSARA FHl YX(HMEEY)
19,000, 000& 19,000
oNM&EE8 g (Hes YxH)
18,000, 000& 18,000
0o ZH4S H&EE8 ZH U AXNEEZ 8)
25,000,000 25,000
o E2H HEAE= FHl 7,000,000& 7,000




)

A A&
BE: c29 MY 2 =5
ool CREFWLAL ot
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 3524l 143,748 143,748 0
OZ2Z222Y4 A 10,430,000& 10,430
[ pReaR=a]l 3,395,000& 3,395
OAl&E & H KX Y| 33,365
0 AAZZ2LIEHE AIAE KX 22
4,365,000 4,365
o BN XNotEE ANE=E FA22 ¥ otN
e e 849 29,000,000& 29,000
[ DPNE=FaR=las] 96,558, 000& 96,558
202 04 dl 5,400 6,413 A 1,013
01 201l 5,400 6,413 A 1,013
OHEHY R 5,400,000& 5,400
206 M = dl 391,000 391,000 0
01 24 391,000 391,000 0
OSZOHTHR X 7 (Hs2s) 50,000,0008 50,000
ST T PY(AZ) 100,008 500 50,000
OZZHHIE K 2 (22H) 25,0002 +200m 5,000
OFESZHAH XM P (Wa) 49,000,0008 49,000
O==z38H2 H=H 7Y 10,000 »400H 4,000
OS2 X B (20 EX S 24H
100, 000& *80H 8,000
OZLEE: S2=728 ZU oAz F2¢
10,0008 2,500 & 25,000
OHEZEEZZ Al2IBEEE I 200,000, 000& 200,000
207 A O Y| 60,000 100,000 A 40,000
01 A2 sl 60,000 100,000 AN 40,000
QO2SotA L HO=X J2HE(HA
60,000, 000& 60,000
305 HHA=2S 7,000 7,000 0
O1Hiad=2S 7,000 7,000 0
OS2 WEAD TloH HiAa2 7,000,000 7,000
401 IS H L 2T 3,353,600 4,164,000 ~810,400
01 A& HI 3,350,000 4,135,488 NT785,488
O Hx=&Y 200,000,000 200,000
OANU =22 HMx&Y 45,000, 000& 45,000
Ot o= A 100,000, 000& 100,000
HETZ &=HH U AL 30,000, 000& 30,000
OXlots BX 2= AX SA
15,000,000& *33 45,000
O=E2Z X T HH|I S A 100,000, 000& 100,000
OLFWE BB A 1,000,000, 000& 1,000,000
OBAE EXSA 100,000, 000& 100,000
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A R =y
HE: c2Y HY L =5
Chel: S 2EZ NS ALY cf
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ON=sLXE 2B+ & HXI2A 100,000,000 100,000
OSZANEE A2 A 200,000, 000& 200,000
OANES (1Y) ZdEd & Zuotdxt
100,000, 000& 100,000
ONZE , s0HEZZE , SAMHEEZZ S 012 2A
M 7| 1,000,000, 000& 1,000,000
OXNYE 7165 (FaS)H=+=2 FHI S A
60,000,000& 60,000
O38 HEZ104sd =2 FHISA
40,000,000& 40,000
Os3ASW~=SAIHel es AX3A
150,000, 000& 150,000
OgszZsE IMI 2 M 80,000,000& 80,000
03 Al =TI 3,600 28,512 A24,912
OE2R A2 3,600,000 3,600
CTER2RAAL(BEX) 186,525 168, 134 18,391
< 61,525
Al 125,000
101 @124l 14,525 14,134 391
= 9,925
Al 4,600
04 JIZHHZ 2RSS E S 14,525 14,134 391
OLSETA 212 14,525,000 14,525
< 9,925
Al 4,600
401 A& HIZ 201 Y| 172,000 154,000 18,000
< 51,600
Al 120,400
01 A& HI 172,000 154,000 18,000
OANES HEEZ X2A (H=2)
72,000,000& 72,000
= 21,600
Al 50,400
OANES HEEZ XA (L)
100,000, 000& 100,000
< 30,000
Al 70,000
TESHEZZ FHIALS 1,886,000 2,855,000 A 969,000
TESHESZZHIAMY 1,886,000 2,855,000 A 969,000
ANEHI &2 1,886,000 2,855,000 969,000
01 A& HI 1,880,000 2,841,860 A 961,860
OB 2E215H PHER HEF BA
150,000, 000& 150,000
O®7P HITI0ISN E2 SHTF B A
300,000, 000& 300,000
— 3 —




EXN: A4
HE: c2Y HY L =5
e ZESHEZZ FUAIY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
O2EH 2|T2062d SLHEA dAHEY Y
E Xl 2 4HH| 200,000,000& 200,000
OZ2EH 2| 211sd &2 SILA ZA}
100,000,000 100,000
OEGIH HE 104546 B2 & X2 A
130,000,000 130,000
OEEH sT301ad &2 SLE ZA
100,000, 000 100,000
O27H AMNZ17sd TAZEZA EHESE Y
E X2 4HH| 150,000,000& 150,000
O27H 10988 &2 S ILE ZA
300,000,000 300,000
O2NH Z2T1ad EME2 S8 ZAF A
HESHE L EX B LAY 150,000,000 150,000
O2MH 2E31sH T2 SLA ZA &
A U EXEAH 200,000,000& 200,000
ONEH 532956 HHIZA 100,000,000 100,000
03 AlE 20| 6,000 13,140 AT ,140
OZEsHEEZ EHIAY 6,000,000& 6,000
SH3HSE 23 18,911,452 23,038,306 N4 ,126,854
= 257,000
= 1,244,700
Al 17,409,752
SSHMAD B ALS 11,535,432 16,940,204 N5,404,772
= 257,000
o= 307,500
Al 10,970,932
SHI|IBAIE R X 22l 1,780,182 2,153,954 N373,772
101 e1214| 3,000 3,000 0
04 JI2tHI22XNHEE S 3,000 3,000 0
O2F , 2U08 2T S22 (2HL)
3,000,000& 3,000
201 et 9| 244 360 251,360 AT7,000
01 AR 22l ] 244,360 251,360 AT7,000
OLbBt=2H| 660
osgEEEx =& A 110,000& *62 660
[ DF=2=d] 2,700
o StolH& FLR2=& 2,700,000 2,700
[ DRIDNE=] 241,000
o Elx2 =4 199,000, 000& 199,000
os4+=W ==HHA 42,000,000 42,000
401 Al HI L 2 0HHI 400,000 400,000 0
01 Al& H| 400,000 399, 100 900
OsAIBHAIE (=2IAIE) SXI22
100,000, 000& 100,000
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2N AL
HE: sAZMAYS
CHe: sHMAD|IBIRA ALY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
0S40 N7 s228 4 haz22A
90,000,000 90,000
O28H KT s 28 L i Z2A
95,000,000 95,000
OZEH A0S =2 EZAZ2 AL 80,000,000 80,000
ONES 828 s Z &2 A 45,000,000 45,000
OZNS HEAH, e 2 T A DA
150,000,000 150,000
OUEE 2208 s=Z&EZ2A
175,000,000 175,000
OUE S UE BA0IS s Z2A
71,000,000 71,000
ONEs 25,08 s2 L2 A
83,000,000 83,000
03 Al&E 201 Y| 10,000 39,062 N 29,062
O==22H 10,000,000 10,000
HH2=JH&E AF S 5,408,000 5,795,000 A 387,000
401 AlEHIZL £ 0HY| 5,408,000 5,795,000 A 387,000
01 Al&H| 5,395,000 5,757,041 N 362,041
O2tAES olel ,AE i HEAIY
90,000,000 90,000
OBIHS ZHN 842 HAAY
140,000,000 140,000
O2HAEE HE . EE 242 HAHAY
90,000,000 90,000
OSAEH SA322 1A B2 Y Z2AH
50,000,000 50,000
OSAH IS =2 ZHIZAH 50,000,000 50,000
OSAEH AA =2 A H| Z2AF 80,000,000 80,000
OSAtH & B2 ZHIZAH 70,000,000 70,000
OSN8 =82 42 FUISA
90,000,000 90,000
OSNH E42] =3 FHHIZ2AH
70,000,000 70,000
QOBAIH X Hi 2 DA A 90,000,000 90,000
OSXH S &5 =22 XA
70,000,000 70,000
OSXH Sl MAH =2 EXSA
80,000,000 80,000
O2XH 20 NS =22 AXZ2A
90,000,000 90,000
O2XH i 95,2 =2 EX2A
50,000,000 50,000
2XNH =8 Hi%= A X2 A 40,000,000 40,000
SKNH 2L Y HH EX3A
70,000,000 70,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEXY 2AE =5 =2 ZA
200,000, 000& 200,000
O82H sts2| i W& ALY 130,000,000 130,000
S FAXF 2 HHAELY
140,000, 000& 140,000
OREH QpLE E+=2 HHIAY
45,000,000& 45,000
OREH 4 S22 WA SHHEZA
110,000, 000& 110,000
OREd ot S22 & MAS M
50,000,000& 50,000
OREH 2Fe =2 HHISA
70,000,000& 70,000
O3EY NelXl= b= JHE A
85,000,000& 85,000
O258 MY, 42X+ = HEAMS
90,000, 000& 90,000
O38Y% &2 249X == HE MY
70,000,000& 70,000
O399 Nitel sAE i HE A
100,000, 000& 100,000
OE3H HL SEOE2 i HEAMS
100,000, 000& 100,000
OZolH S02 == HEAE
80,000,000& 80,000
OZotH A0S b= HE A
95,000,000& 95,000
OZotH Fitel E== Z A 100,000,000& 100,000
O8EH MUE 84 252 HHAMY
130,000, 000& 130,000
OE8H A48 24 22 HHMY
70,000,000& 70,000
OZ8H MsS A =2 HAMIG
150,000, 000& 150,000
OEEH AS10IE2 E+2 HWHSA
100,000, 000& 100,000
O&SH AEXF =2 FHAY
50,000,000 50,000
O+ ¢Scl ¢S S22 HHEX S
At 160,000, 000& 160,000
O=72 otdlel &S S22 HHEX S
At 90,000, 000& 90,000
O=7% a3, E2X 7 == HEAMS
80,000,000 80,000
O=2Y% d&1,2 =2 ZFHISAL 1A
110,000, 000& 110,000
O=2Y A2l =2 HHISA
150,000, 000& 150,000




2N AL
HE: sAZMAYS
©? STYAIIBFELHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=E% & =2 FHISA 2A1HD
90,000, 000& 90,000
OS5 &2 S =2 A
100,000, 000& 100,000
O=29 el == FHIZA
100,000, 000& 100,000
OZ4H NXOES i HE A
40,000,000& 40,000
O24 AII0tE EW=2 S M
100,000, 000& 100,000
O 22 0202 Etl=2 At
70,000,000& 70,000
O34 EMXF =2 ZFHSA
100,000, 000& 100,000
O34 MS0S =2 FHISA
60,000,000 60,000
OZE8 ASOS i HEAL
90,000,000& 90,000
OLES NSEY == HEAS
90,000,000& 90,000
OLES [YSY == HEAS
90,000,000& 90,000
OLES FESY == MHEAE
50,000,000& 50,000
OUES ME 822 HHSA 90,000,000 90,000
OB 4s AR 7 == WA AL
100,000, 000& 100,000
OB Lts 2X0S == HE A
40,000,000& 40,000
OZds &, d0 Y i JHE A
100,000, 000& 100,000
OZLs ER0OIE E=Z HASA
100,000, 000& 100,000
OuES ZHOS b= HEAE
70,000,000& 70,000
OCuLEsS = == HHSA 70,000,000 70,000
Ounzs EHOS EW=2 HHSA
70,000,000 70,000
03 Al 2 THHI 13,000 37,959 A24,959
Ot HEAS 13,000, 000& 13,000
StUHHl S AL 200,000 0 200,000
401 Al HIZ 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OS2l S At 200,000, 000& 200,000
st i g (EX) 321,250 321,250 0
= 257,000
Al 64,250




EXN: A4
HE: sAZMAYS
CHel: S M A BHE M ALY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 321,250 321,250 0
= 257,000
Al 64,250
01 Al&H| 321,250 321,250 0
Oste iy S0 321,250,000& 321,250
= 257,000
Al 64,250
JIHS B2 SEIAIS (HEAS) 428,000 428,000 0
401 AlEHIZL 2 0HY| 428,000 428,000 0
01 Al& H| 428,000 424,919 3,081
OIIAHS HBEZ SITE AL 428,000,000& 428,000
I HSIEAZ ST AS 300,000 500,000 A 200,000
401 Al HI L £ 0HHI 300,000 500,000 A 200,000
01 Al& H| 300,000 496,400 A 196,400
OIIAHS HEZ SITEH AS 300,000,000& 300,000
NSHFHUXY AIMEER LA (EX) 75,000 75,000 0
== 37,500
Al 37,500
401 AlEHIZL 201 Y| 75,000 75,000 0
= 37,500
Al 37,500
01 Al&H| 75,000 75,000 0
OIISFHAXNE AN S ALY
75,000,000 75,000
= 37,500
Al 37,500
=0 B S THHHDI B KIRAIS (HEAISH ) (EX) 300,000 630,000 A 330,000
o= 270,000
Al 30,000
401 Al HI L 204 HI 300,000 630,000 A 330,000
o= 270,000
Al 30,000
01 Al&H| 300,000 630,000 A 330,000
O=2 LES THHIDIEH AFE (4 M)
300,000,000& 300,000
o= 270,000
Al 30,000
SHEMESS AN ALY 6,144,020 4,898, 102 1,245,918
o 17,600
Al 6,126,420
SEAFI|CEEAMNS (HEAY) 5,825,000 4,656,000 1,169,000
401 Al HI L 2 0HHI 5,825,000 4,656,000 1,169,000
01 Al& H| 5,820,000 4,643,428 1,176,572




A R =y
HE: sAZMAYS
Sl SOHEMEBANMAY (B9 ®R)
_ d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=zd282 JUAg (B Ba, 29,8
Hd) 5,820,000, 000& 5,820,000
03 Al 2 THHI 5,000 12,572 NT,572
OSZMHY FUAY (U Ba T, 2y
Hd) 5,000,000 5,000
St sSH HOEE =X 2el 33,820 65,820 A 32,000
101 @14 Hl 7,000 9,000 A 2,000
04 J12tHI 2 S 2=+ 7,000 9,000 A 2,000
OHOIZS&d M= =2 4,000,000& 4,000
Otit=d stEa 2e Ry 3,000,000 3,000
201 Let24dH] 6,820 6,820 0
02 =24l 6,820 6,820 0
O=323LHA 6,820
o &Il ¥ &otxE 23 6,820,000 6,820
401 AIEHI L 20 20,000 50,000 230,000
01 A& HI 20,000 49,460 229,460
OCtZ S HOIEE E=ALY 20,000,000& 20,000
OIS ZdAY 200,000 0 200,000
401 AIEHI L 2 0] 200,000 0 200,000
1T A& HI 200,000 0 200,000
OLRI0I2CED| JIBHAIE XI&
200,000,000 200,000
HACS ZEMY KR 2el 50,000 109,592 A 59,592
401 AIEHI L 20 50,000 100,000 A 50,000
01 A& Bl 50,000 99,100 A 49,100
OGBS MHE SX2el 50,000, 000& 50,000
HAC? SENHY 22X AY(BX) 35,200 66,690 A 31,490
< 17,600
Al 17,600
AMEHIZX 2 35,200 66,690 A 31,490
< 17,600
Al 17,600
01 A& 8l 35,200 66,690 A 31,490
O SEHY 2y N (+5HY)
17,600, 000& 17,600
< 8,800
Al 8,800
OZdce ZEHY 2922 NJA(FE&Es
HA) 17,600, 000& 17,600
< 8,800
Al 8,800
ANZ=ClAlE HE = 1,232,000 1,200,000 32,000
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HE: sAZMAYS
S AlZECAlE HES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 919,600
Al 312,400
ZCAEMES(HEAMH)(EX) 1,100,000 1,200,000 A 100,000
= 880,000
Al 220,000
401 AlEHIZL 2 0HY| 1,100,000 1,200,000 A 100,000
= 880,000
Al 220,000
01 Al&H| 1,100,000 1,195,680 A 95,680
el AIEHE S AY 1,100,000,000& 1,100,000
= 880,000
Al 220,000
ANZ2el X BLXIAAE(EX) 132,000 0 132,000
& 39,600
Al 92,400
401 Al HI L £ 0HHI 132,000 0 132,000
& 39,600
Al 92,400
01 Al& H| 132,000 0 132,000
OMd=X HELUXA AL 132,000,000 132,000
&< 39,600
Al 92,400
A R2MEEIA A 5,639,000 5,827,203 A 188,203
= 593,000
Al 5,046,000
PRS- =T N gt 5,639,000 5,827,203 A 188,203
o= 593,000
Al 5,046,000
FO=2AMNS(HEXNE S2F-H]) 2,008,000 2,100,000 A 92,000
401 Al HI L 2 0HHI 2,008,000 2,100,000 A 92,000
01 Al & H| 2,000,000 2,079,613 NT79,613
O3S B2l s ZEZA 34,000,000 34,000
O2ZES AS L B WERFY L ST O
Sotd S A DAL 36,000,000 36,000
OCHZE s 2 EFU2 AX2A
30,000,000 30,000
OZMH =242 "o Mgz otAZE LA ZBA
30,000,000 30,000
OZMEH JMEL AE NNQYZ OLAZE ZEZBA
30,000,000 30,000
O MEH Fatgl JIE gz otAE ZEZBA
40,000,000 40,000
QYA H Z2=2 Hl=2 ZHIZ2AH 30,000,000 30,000
QOB AT AL A Ot Y Hi=Z HHISAF
30,000,000 30,000




FAAED
3y &

¢l X

5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET

OB &H ste =2 FHISA

40,000,000& 40,000
O MM 2AOS =2 ZFHSA

38,000,000& 38,000
OEXH HE2 S8 s2 =2 2 1A F

HI S At 30,000,000& 30,000

OEXNY Fite 224+ =2 =2 EXSA

32,000,000& 32,000
OEXH HE =2 a2 X3 A

38,000,000& 38,000
O YE2 FUR HEH TA

32,000,000& 32,000
O®R0 24 MUR HEE DA

35,000,000& 35,000
OHZH MEH i WA 33,000, 000& 33,000
O MY 2 1L SEEZE At

33,000, 000& 33,000
OREH S 2 2L SEELE SA

31,000,000& 31,000
OREH FZ 2 3 i HEALS

36,000, 000& 36,000
OZEY 0022 1A OtAZ EZHESAM

26,000,000& 26,000
O358H NIADI2 OtAZ2IAMN 2| A

30,000, 000& 30,000
028 =&, SX0t2 == ZFUISAM

44,000,000& 44,000
OZoIE 2t 2 20 MY2 SZEH SA

27,000,000& 27,000
OBGHH AE 2 1A =2 FHISA

39,000, 000& 39,000
OZoIH 23 2 24 =2 ZHISA

34,000, 000& 34,000
O89d 2402 2 2L =2 EXSA

33,000, 000& 33,000
Od9d F230t2 2 2L =2 ZHISA

30,000, 000& 30,000
O&9 Y LIAIOIE2 34 Bil+=2 EXSA

37,000, 000& 37,000
OXEW LD 52 THZA

30,000, 000& 30,000
OXEM ZYNP 52 THIA

40,000,000& 40,000
OdEH HHEIF =2 I SA

30,000, 000& 30,000
O=79% MEDS 2 10D i HE ALY

50,000,000& 50,000
O=218 Z20E s ¥ 24 i HEAEY

30,000, 000& 30,000
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